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Question Paper Specific Instructions

17\ h

Please read eachtof\the fgﬁ ' i}:g\i{:_shuctious carefully before attempting questions :
L'
There are EIGHT questions-divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH, ' A%
Y

Carﬁtgdate;hus to attempt FIVE questions in all.

Questions no. 1 and 5§ are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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WUE A
SECTION A

QL Treaferfra wemi # & weles w1 wrTw 150 wegl W wHTEEATeTS geror R ;

Critically examine the following statementsin about 150 words

each : 10x5=50

(a) “mEw i g A geg @ 1839 # g oft | I gy R T F R
Al & Frewie &1 wha ar |7

“Maharaja Ranjit Singh died in 1839. His death was the signal for an
outburst of anarchy all over the Punjab.”

(b) “H IR =it § W R UraTe srRge o q afi-anft siE W
& o, g et aftreafs ol sen Tfife-gum stdert @ ww 6 (7
“In the initial stages, when Indian nationalism was immature, just

sprouting, it found expression in many liberal religio-reform
movements.”

(© “2ﬁm%mﬁaﬁﬁaﬁ¢ma@ﬁﬁmﬁrﬁ \Qilﬁ\\.
}%g'a:ﬂﬁmw

wfsram & & frn qen s wim ot e @ R
FEA Al W A fen (7 0 \ \J
“In the early twentieth century, -thEreQ\camanto existence a number of

3\

women’s organisations_,,\iz\hit:h operated more actively in the public arena

and ﬁ;:%s;g n@e\ dﬁr@‘é&g‘gn women’s political and legal rights.”
@ (’“ﬁ@i@mmﬁ\mﬁwq@ﬁmﬁﬁamdﬁ% ATEH =
\C ‘a\!@ﬁaﬁmmmwﬁﬁmﬁwmwﬁaﬁmﬁam ”

“The Trade Union Movement in India not only supported the call for

national struggle at critical Jjunctures, but also impacted its course and
character in several ways.”

(e) ‘Whﬁﬁmmmmm%mmaﬁmaﬁu
T frond w wgS 5 frirom & v saraeTies v aeife T o ”

“Based on his discussion with Indian leaders, as well as his own
perception, Lord Mountbatten soon came to the conclusion that partition
was the only practicable and feasible solution,”
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Q2. (2 “T=I I EEH R 9RAE TN F vt fawl f smay H1 ant w50
famga 790 &9 W ToEifeE fraam ww fR — 38 aads @ 9 § siih
R e wroft 3 figuren & e 35 e | afrer e i |

“It was Dupleix who had first showed the way of intervening in disputes
of the Indian rulers and thereby acquiring political control over vast
territories — a technique which was later perfected by the English East
India Company.” Elaborate. 20

(b) 1857 & fagde #l UF T WU 9% A A A WRAE RaRE w1 =
WA B ST @1 | 39 HROT ! @I hae AN EG F s A @ 7
T T I qEE @I ol anfis ofeds 1wl siea § 6 s
wfee e Fv wqeml A1 o s R | frde ifte

For long, the Revolt of 1857, has been mistaken to be a mere mutiny of
the Indian sepoys in the Bengal army. However, its causes need to be
searched for not only in the dissatisfaction of the army, but in a long
drawn process of fundamental social and economic change that upset the
peasant communities. Discuss. 20

() &1 AH HAER WA H 1857 | gd gl 1855 — 56 1 W™ g (fagig)
HEH WIS S N=IeH ot 2
Do you feel that the Santhal Hool (rebellion) 1855 — 56, was theomokf:\
effective tribal movement in pre-1857 India ? N \ 10
o 0“‘ o

Q3. (a) mﬁmmﬁmﬁﬁmmﬁn@g@ﬁmu@&fﬁumﬂ%ﬂ
Uh A YREdar @mea T @, W{ﬁﬁw@?m’@qﬁmﬁ
T3 T oft it R a3 qe v B 9w E e
oY T O g A 4 A o 2 e A |

0 |

In its political“‘b\gl;lla\?;'pyh the Indian National Congress in its early

A % . F

career, was Eeveﬁ?. radical organisation, besides the founders of the
Longress,involved-A.O. Hume in their project. Do these facts verify that

( at@;@;\(}oﬂﬁess was founded as a ‘Safety valve’ ? Explain. 20
(b)

wmwawém%ﬁm@hmﬁvﬁamwm
aRewa W TRl Serelt ¥ s iR 3 f ol Rt e 2
faa=m fifse |

Do you agree with the fact that the virtual failure of the
Non-Cooperation Movement and the gloom that descended on the

nationalist scene, created conditions for revolutionary activities ?
Discuss. 20

(c) Mﬁmmm%mﬁmmmmamm
w FATH TR S war o | whew fifw |

Planning was seen as a powerful instrument that could be used to
remove regional inequality. Examine. 10
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Q4. (a) “vrdia Torlifa & R qon Rrarerrg &= § nideh 31 forg ©b Aot
Ry +1 T WS ;i I el = oem T8 fea afew gheee
TOIRAET F TE S ARl F qieEl | g e |7 e il )

. “In the divided and contestable space of Indian politics, Gandhiji could
claim for himself a centrist position because he alienated neither and
tactically combined the goal of the moderates with the means of the
extremists.” Discuss. 20

(b) “WdTE AW H TIEI WRA-HH @Y 9gd TRt & 91" I g, W
M I 961 A UG H = ATHEDA F Hed IV B G FET I91 17
giewm sgrEn Hifs |

“After Indian Independence India-China relations started on a high
note, but during the course of the coming years India had to face a bitter
experience due to the Chinese aggression.” Elaborate. | 20

() ‘men&ﬁw%rﬁmﬁwmwwmmm
o |” feopoft Hifdrg |

“The Reorganisation of the States on the basis of language was a major
aspect of national consolidation and integration.” Comment. e (\10

%\\@q\

\ \
a@\\g\@\ﬁ e
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wE B
SECTION B

Q5. F=feriam wuml # @ U &1 T 150 vedl # GRTE AT gdterr iR

Critically examine the following statements in about 150 words

each : 10%5=50

(@) ‘v & Rigm 39 yAR & Amts wifR 6 @l an figeat = few
ﬁlﬂ

“The principles of Enlightenment were in some ways a continuation of
the discoveries and theories of the Scientific Revolution.”

(b) “@ 1789 Hi wiw f wif F won A Qeferifers aA FETW FE F
AY-A1Y qehieiia geamd ot mide of |7

“The causes of the French Revolution of 1789 included both long term
and structural factors, as well as more immediate events.”

10

() “mwm,m@mmmwaﬂ%m%mwsﬂé@gﬁq

2]
I % qUTEt S qun Trifas qhom ge P g Q&\ .
“Industrial Revolution had far reachmg soen_z_tl é\nd p\qlltlcal consequences
with the advent of assembly line fa{:tones urba ization and rise of the

urban working class.? f\@ \
\\

d ‘Wmﬁ@fﬁ\#mﬁﬁ?ﬂuﬁﬁ w9 ¥ 9= TS A @ e

\:\ W \\'\

f\ﬁw \S@ﬁammaa IR T @ W fowm F = 2w A gt

“The multitude of newly independent countries came to be known as the

‘Third World’, belonging neither to the First World of capitalist
democracies, nor the Communist Second World.”

() “mg 1948 #, 37 I el ¥ ge1 Y& wwn o, ot 3w R F o N

gl 3 A Fi oft | swel qun WA F wen i e i wew W |

“The British were slated to withdraw from Palestine in May 1948, and

both sides prepared for that day. Violence between Arabs and Jews,
already endemic, escalated.”
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Q6. (a) .
(b)
(¢
Q7. (a)

X

(c)

URC-B-HST

‘i W@ T R T o Teg I 1789 ¥ 1791 F Wed Y I
st IREdH ® ggea WgW A qd I @Y Ya Rl ¥ ore
o aw wearEt #1 wmel e |7 fag e |

“Napoleon was not a revolutionary but he solidified many of the
revolutionary changes of 1789 — 1791 and he himself supported most of
the ideas and proposals of Enlightenment philosophers.” Substantiate. 20

“For 6t gea fumon ot B gaym F R w1 Red T fed v F ol
HTT B a0 38 gugial g it T 9w Tren TE o aw "” sl 8
Ig 1 for it yfiren & el § Rowof wega Hifvr |

“Lincoln’s main thesis was that the Slavery issue had to be decided one
way or the other and could no longer be evaded by compromise.”
Comment in the light of his role in the American Civil War. 20

“& 1848 i i< X g wenad B wfia F R aw 3 @ SRS |

T BIST IS | W 9N W@ I IeNAR, TPAR a1 GHIETE TG aReat w5
R o1 1” feogoft Shifr |

“The 1848 revolutions frightened the crowned heads of Europe and
caused several to abdicate. Those who remained were cognizantdof the
threats posed by liberalism, nationalism and socialism.” Comment \ 0

“feremds w1 T awn @R mwwaﬂfﬂ%wﬂmﬁ (\m

wifvhwelt et A R = Fﬂe (Ifon. Chgnce’uor)% w9 4 ﬁ@m
aﬁﬁml”mm’lﬂm \

“From Bismarck’s, ‘Blood amLIron speech and his forceful actions to

% |
achu\a\va G{arman umﬁcatmn Bismarck came to be known as the Iron
Chanéel]or \Cntlcally examine. 20

N
%mwwéméﬁaﬁzﬁaﬁwgmmw%‘ﬁmaﬂz
o1 ? wfer e Hife |

Do you agree with the statement that the Second World War was
history’s most destructive war ? Elaborate. 20

mmﬁﬁmmmmﬁwmﬁmﬁm
BT 9T a1 |

Discuss the circumstances leading to the French exit from Algeria in

1962, 10
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Q8. (a) Wit 3 fpm wor sifm 6 Rowe sicafes s =1 3 =g
TEgTmETE % ¢ AR B g Hifada 99 (,.09.09.91.) F TF TEEhE
T femn 2
How did Stalin build on Lenin’s legacy of Bolshevik Revolution and

introduce new elements of totalitarianism to transform USSR as a
superpower ?

b) M Ig F wwf F wrar v worffa § o e e wdfteo w seg gan |
faverm i 6 fFe R 99 T smle (3.09.0.) GHAE TEhE 9
T |

A new configuration of power emerged in world politics after the end of
the cold war. Analyse how USA managed to become the sole superpower.

() e s gdaw Hifse & s 98 w0 @ @ B w e o
T w it & sror enfihl tp-Puin & s9 % fe yehwify w6
Ol

Critically examine whether it was true that after a century of
dependency on Europeans, Africans were ill prepared for the task &

nation-building.
o 0\ @(\ o
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